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Subject : GE_Q01-Q20_JA02MARSH1
Question ID:- 1

Read the passage given below and choose the most appropriate option to answer the question

that follow :

1. Today Iread a poem called “The Ant and the Cricket” taken from the famous Aesop’s Fables.
Oh! What a beautiful poem it is. It is about a cricket who used to sing all through the
pleasant months of summer and spring. When winter arrived he found that there was no
food left in his home. He went to an ant as he was starving. He requested the ant to shelter
him from rain and to lend him some food. He said that he would repay it the next day. He
added that if the ant did not give him some food, he would die of starvation and sorrow. The
ant asked the cricket what he did during the warm weather, to which the cricket replied that
he was busy singing all the time as he was very happy. At this the ant advised him to spend
the winter also by dancing. Saying so, the ant turned the cricket out of his house.

2. The poet says that this is not a fable but truth. He goes on to add that some human beings are
also like the cricket of this story. I think in real life also we do come across lazy bums,
shirkers, excuse makers, etc. who just invent excuses to get away from hard work. A couple
of my friends are perfect examples of shirkers. I think, I ought to mail this poem to them. I
am sure they would get the message and try to change their attitude.

The writer calls the fable ‘a beautiful poem’ because :
(1) it conveys that all humans are like the cricket
(2) it is the story of an ant and a cricket

(3) itis taken from Aesop’s Fables

(4) it gives life’s true lesson

Options:-

.1, Option ID :- 1,
. 2, Option ID :- 2,
. 3, Option ID :- 3,

. 4, Option ID :- 4,
Answer Given:- 4, Option ID : -4

Question ID:- 2
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Read the passage given below and choose the most appropriate option to answer the question
that follow :

1. Today Iread a poem called “The Ant and the Cricket” taken from the famous Aesop’s Fables.
Oh! What a beautiful poem it is. It is about a cricket who used to sing all through the
pleasant months of summer and spring. When winter arrived he found that there was no
food left in his home. He went to an ant as he was starving. He requested the ant to shelter
him from rain and to lend him some food. He said that he would repay it the next day. He
added that if the ant did not give him some food, he would die of starvation and sorrow. The
ant asked the cricket what he did during the warm weather, to which the cricket replied that
he was busy singing all the time as he was very happy. At this the ant advised him to spend
the winter also by dancing. Saying so, the ant turned the cricket out of his house.

2. The poet says that this is not a fable but truth. He goes on to add that some human beings are
also like the cricket of this story. I think in real life also we do come across lazy bums,
shirkers, excuse makers, etc. who just invent excuses to get away from hard work. A couple
of my friends are perfect examples of shirkers. I think, I ought to mail this poem to them. I
am sure they would get the message and fry to change their attitude.

Read the following statements :
(A) A cricket sang all through the pleasant months of autumn.
(B) When winter arrived, he was starving and helpless.

1
2
3
4

(A) is correct, but (B) is incorrect
(B) is correct, but (A) 1s incorrect
Both (A) and (B) are correct
Both (A) and (B) are incorrect

— — — —
p AT S Suihe R A

Options:-

.1, Option ID :- 5,
. 2, Option ID :- 6,
. 3, Option ID :- 7,

. 4, Option ID :- 8,
Answer Given:- 1, Option ID : -5

Question ID:- 3
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Read the passage given below and choose the most appropriate option to answer the question
that follow :

1. Today Iread a poem called “The Ant and the Cricket” taken from the famous Aesop’s Fables.
Oh! What a beautiful poem it is. It is about a cricket who used to sing all through the
pleasant months of summer and spring. When winter arrived he found that there was no
food left in his home. He went to an ant as he was starving. He requested the ant to shelter
him from rain and to lend him some food. He said that he would repay it the next day. He
added that if the ant did not give him some food, he would die of starvation and sorrow. The
ant asked the cricket what he did during the warm weather, to which the cricket replied that
he was busy singing all the time as he was very happy. At this the ant advised him to spend
the winter also by dancing. Saying so, the ant turned the cricket out of his house.

2. The poet says that this is not a fable but truth. He goes on to add that some human beings are
also like the cricket of this story. I think in real life also we do come across lazy bums,
shirkers, excuse makers, etc. who just invent excuses to get away from hard work. A couple
of my friends are perfect examples of shirkers. I think, I ought to mail this poem to them. I
am sure they would get the message and fry to change their attitude.

According to the writer who are examples of shirkers ?
(1) the cricket and his two friends

(2) the cricket

(3) his two friends

(4) the ant and the writer himself
Options:-

.1, Option ID :- 9,

. 2, Option ID :- 10,

. 3, Option ID :- 11,

. 4, Option ID :- 12,
Answer Given:- Not Attempted

Question ID:- 4
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Read the passage given below and choose the most appropriate option to answer the question
that follow :

1. Today Iread a poem called “The Ant and the Cricket” taken from the famous Aesop’s Fables.
Oh! What a beautiful poem it is. It is about a cricket who used to sing all through the
pleasant months of summer and spring. When winter arrived he found that there was no
food left in his home. He went to an ant as he was starving. He requested the ant to shelter
him from rain and to lend him some food. He said that he would repay it the next day. He
added that if the ant did not give him some food, he would die of starvation and sorrow. The
ant asked the cricket what he did during the warm weather, to which the cricket replied that
he was busy singing all the time as he was very happy. At this the ant advised him to spend
the winter also by dancing. Saying so, the ant turned the cricket out of his house.

2. The poet says that this is not a fable but truth. He goes on to add that some human beings are
also like the cricket of this story. I think in real life also we do come across lazy bums,
shirkers, excuse makers, etc. who just invent excuses to get away from hard work. A couple
of my friends are perfect examples of shirkers. I think, I ought to mail this poem to them. I
am sure they would get the message and try to change their attitude.

The message the writer intends to convey to his friends is that :
(1) One should always request for food and shelter

(2) One should repay what one has borrowed
(3)  One should work hard and not make excuses
(4)  One should sing and dance all the year
Options:-

.1, Option ID :- 13,

. 2, Option ID :- 14,

. 3, Option ID :- 15,

. 4, Option ID :- 16,
Answer Given:- 3, Option ID : -15

Question ID:- 5
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Read the passage given below and choose the most appropriate option to answer the question
that follow :

1.  Today Iread a poem called “The Ant and the Cricket” taken from the famous Aesop’s Fables.
Oh! What a beautiful poem it is. It is about a cricket who used to sing all through the
pleasant months of summer and spring. When winter arrived he found that there was no
food left in his home. He went to an ant as he was starving. He requested the ant to shelter
him from rain and to lend him some food. He said that he would repay it the next day. He
added that if the ant did not give him some food, he would die of starvation and sorrow. The
ant asked the cricket what he did during the warm weather, to which the cricket replied that
he was busy singing all the time as he was very happy. At this the ant advised him to spend
the winter also by dancing. Saying so, the ant turned the cricket out of his house.

2. The poet says that this is not a fable but truth. He goes on to add that some human beings are
also like the cricket of this story. I think in real life also we do come across lazy bums,
shirkers, excuse makers, etc. who just invent excuses to get away from hard work. A couple
of my friends are perfect examples of shirkers. I think, I ought to mail this poem to them. I
am sure they would get the message and try to change their attitude.

‘Shirkers” are people who are :
(1) pleasant tempered
(2) hard working

(3) excuse makers

(4) friendly

Options:-

.1, Option ID :- 17,

. 2, Option ID :- 18,

. 3, Option ID :- 19,

. 4, Option ID :- 20,
Answer Given:- 3, Option ID : -19

Question ID:- 6

Select the word opposite in meaning to the word given in capital letters.

UNDERMINE
(1) replace

(2) champion
(3) defeat

(

4)  oversee

Options:-

.1, Option ID :- 21,
. 2, Option ID :- 22,
. 3, Option ID :- 23,

. 4, Option ID :- 24,
Answer Given:- 3, Option ID : -23

Question ID:- 7



https://applink.adda247.com/d/XhqWf9lSap

Adda247

Select among the four alternatives, the word closest in meaning to the word given in capital letters.
APPRISE

(1) inform

(2) misinterpret
(3) execute

(4) prohibit
Options:-

.1, Option ID :- 25,

. 2, Option ID :- 26,

. 3, Option ID :- 27,

. 4, Option ID :- 28,
Answer Given:- 3, Option ID : -27

Question ID:- 8

The idiom “by leaps and bounds” means :
(1) aimlessly

(2) very accurately

(3) very slow

(4) very fast

Options:-

.1, Option ID :- 29,
. 2, Option ID :- 30,
. 3, Option ID :- 31,

. 4, Option ID :- 32,
Answer Given:- 2, Option ID : -30

Question ID:- 9

You can find a car in a garage. What can you find in a ‘port’ ?

(1) a ship
(2) a tram
(3) a bicycle
(4) a train
Options:-

.1, Option ID :- 33,
. 2, Option ID :- 34,
. 3, Option ID :- 35,

. 4, Option ID :- 36,
Answer Given:- 1, Option ID : -33

Question ID:- 10
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Complete the sentence with the most appropriate option.
This is an product for the fashionable youngsters.
(1) extensive

(2) elusive
(3) exclusive
(4) allusive
Options:-

.1, Option ID :- 37,

. 2, Option ID :- 38,
. 3, Option ID :- 39,

. 4, Option ID :- 40,
Answer Given:- 4, Option ID : -40

Question ID:- 11

Complete the sentence with the appropriate pair of adverbs.

The birds flew above the lake, while the turtle swam
(1) gracefully, slowly

(2) badly, quickly

(3) eventually, slowly
(4) furiously, badly
Options:-

.1, Option ID :- 41,

. 2, Option ID :- 42,

. 3, Option ID :- 43,

. 4, Option ID :- 44,
Answer Given:- 3, Option ID : -43

across the lake.

Question ID:- 12

Select the misspelt word :
(1) credibility
(2) discrepancy
(3) adolesent
(4) initiative
Options:-
.1, Option ID :- 45,
. 2, Option ID :- 46,
. 3, Option ID :- 47,

. 4, Option ID :- 48,
Answer Given:- 3, Option ID : -47

Question ID:- 13
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Insert the correct phrasal verb to complete the sentence.

You can words in a dictionary.
(1) look up
(2) look at
(3) look out
(4) lookin
Options:-

.1, Option ID :- 49,
« 2, Option ID :- 50,
. 3, Option ID :- 51,

. 4, Option ID :- 52,
Answer Given:- 4, Option ID : -52

Question ID:- 14

Complete the sentence with the correct pair of words.
No sooner the sun
(1) did, rise

(2) 1is,rise
(3) do, rise
(4) does, rise
Options:-

.1, Option ID :- 53,
. 2, Option ID :- 54,
. 3, Option ID :- 55,

. 4, Option ID :- 56,
Answer Given:- 1, Option ID : -53

than the birds started chirping,.

Question ID:- 15

Complete the sentence with the correct set of articles.

The tiger is endangered species that needs
stakeholders.

(1) an, no article, the
(2) an, the, the

(3) an, a, the
(

4) no article, a, the

Options:-

.1, Option ID :- 57,
. 2, Option ID :- 58,
. 3, Option ID :- 59,

. 4, Option ID :- 60,
Answer Given:- 2, Option ID : -58

support of all

Question ID:- 16
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If you had to buy vegetables, where would you go ?
(1) to a butcher

(2) toa grocer

(3) to a florist
(

4) to a pharmacist

Options:-

.1, Option ID :- 61,
. 2, Option ID :- 62,
. 3, Option ID :- 63,

. 4, Option ID :- 64,
Answer Given:- 3, Option ID : -63

Question ID:- 17

Identify the Word : Meaning pair which is incorrect.

(1) exquisite : beautiful

(2) peril : danger

(3) sudden slow

(4) thrash : beat
Options:-

.1, Option ID :- 65,
. 2, Option ID :- 66,
. 3, Option ID :- 67,

. 4, Option ID :- 68,
Answer Given:- 3, Option ID : -67

Question ID:- 18

Complete the sentence using correct prepositions.

She came home scared midnight. I told her to come and sit
(1) in, near

(2) in, across
(3) at, by

(4) since, near
Options:-

.1, Option ID :- 69,

. 2, Option ID :- 70,

. 3, Option ID :- 71,

. 4, Option ID :- 72,
Answer Given:- 1, Option ID : -69

Question ID:- 19
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Rearrange the words/phrases to form a correct sentence.
is an inexpensive / of water / way to stay healthy / drinking a lot.

(a) (b) (0) (d)
(1) (b) (@), (c), (d)
(2) (9 (d), (b), (a)
(3) (), (d), (c), (b)
(4)  (d), (b), (a), (¢)
Options:-

.1, Option ID :- 73,
« 2, Option ID :- 74,
. 3, Option ID :- 75,

. 4, Option ID :- 76,
Answer Given:- 4, Option ID : -76

Question ID:- 20

Which of the four phrases given below should replace the underlined phrase to make it
grammatically correct ?

I need not offer any explanation regarding this incident, my behaviour is speaking itself .

(1) will speak to itself
(2) speaks for itself

(3) speaks about itself
(4) has been speaking

Options:-

.1, Option ID :- 77,
. 2, Option ID :- 78,
. 3, Option ID :- 79,

. 4, Option ID :- 80,
Answer Given:- 3, Option ID : -79

Subject : GH_Q21-Q40 _JA0O2MARSH1

Question ID:- 21

el fou T TRN9T il UgeRt W Wel faehed R era ahifeg-

39 AR 0§ T U L1 g3 IS FHE @ T § | YRRy i S § 36 g9
HTe W11 T & | M-S H S0 2ot 9 3T 3TYA1 Sfad el 2h1 FHFA] =eal g | 98 37 Haehl
fordier =T =T &, S Sied S & Tel § anees €
T o FTER T g el 1 e 3 U TH g -

(1) i LTat Fera §

(2) forment % nfem & §
(3) forme = 9 &l €

(4) o wft wof fte § e €

Options:-
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.1, Option ID

Answer Given

. 2, Option ID :-
. 3, Option ID :-
. 4, Option ID :-

- 81,
82,
83,

84,
:- 3, Option ID : -83

(
(2)
(3)
(4)
Options:-

.1, Option ID :-
. 2, Option ID :-

. 3, Option ID :-
. 4, Option ID :-

Question ID:- 22

= fou 7T TS Sl Uge Wl Hal faened @t 9 it

39 a9 0 H AT U UT g Sl St T T § 1 Ureifies wifa s S 3w ge
figed WI-91 T &1 ST § S S 98 ST 379 Siad T o] THEEl TRl €| 98 37 Hah
oy =31 =redr € S e S & 9l g SR E
‘Y’ % uE H e @ T -

1)  arfeekan

87,
88,

Answer Given

:- 1, Option ID : -85

Question ID:- 23

et fau T TEN9T Rt UGt HeH Wel faehed ahT w19 shitel-

39 a9 0 § A U W g Sl St @ T B 1 UrEfies wifa @i sy | e g9

AT Q-9 T &1 STeH-3TorTd § S 9 9 3711 3791 Siiad Gl o1 THeMl JRdl ¢ | 98 37 Heehl
oy =631 =red € S SiEd S & Orl § SR §

T % STTIR T N H T8 § 2

(1) S=f wIfd =i a5
2) Wiyt i e

Options:-
.1, Option ID :- 89,
. 2, Option ID :- 90,

. 3, Option ID :-
. 4, Option ID :-

Answer Given

91,

92,
:- 4, Option ID : -92

Question ID:- 24
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= fou 7T TS St Uge WAl Wal faeed @t = Sifee-
39 a9 0 H AT U TT g Sl St T T § 1 Ureifies wifa @i S 3w ge

Ifitesl W91 T &1 -3 H Sl 2 o 31 3791 Sitd 9l &) Y92 TRai e | 98 3 e
oy s =T &, S Sied S & 9§ a1k ¥

e o ST A 37 Heft ot Toier e =mgan € S -
(1) 9% meart, o =& §

2)  WrEnfie gt @ TR €

3) Sl S F wnen S v @

(
(£
(4) S = g o TREEE e §
Options:-

.1, Option ID :- 93,

. 2, Option ID :- 94,

. 3, Option ID :- 95,

. 4, Option ID :- 96,
Answer Given:- 3, Option ID : -95

Question ID:- 25

el fou 7T TRNYT ol UgeRt Wad Wel faehed st wE shifag-

39 a9 0 H A U WT g1 el St 1 T § 1 Uienfies wifa @i sy | e g9
Sified @I-H1 T E | S -TATe H S /e 9% 3T 3791 Siiad Ul %] YHSAT Sedl € | 98 39 o
ferdier =R =redn &, S Sfe S o onl § 9 €

TPe 9 firT g § -
(1) &

(2) feEd

(3) IHH

(4) HIH
Options:-

.1, Option ID :- 97,
. 2, Option ID :- 98,
. 3, Option ID :- 99,

. 4, Option ID :- 100,
Answer Given:- 2, Option ID : -98

Question ID:- 26
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“Foresh &2 B e 8 ¢ % fon kv ¥ -
(1) R

(2) T

(3 Fr=

(4) T

Options:-

.1, Option ID :- 101,
- 2, Option ID :- 102,
. 3, Option ID :- 103,

. 4, Option ID :- 104,
Answer Given:- 2, Option ID : -102

Question ID:- 27

‘et - v 7 o1 1 @ dfe o FAFR B |
(1) =%

(2) ®IF

(3) S

(4 v

Options:-

.1, Option ID :- 105,
. 2, Option ID :- 106,
. 3, Option ID :- 107,

. 4, Option ID :- 108,
Answer Given:- 2, Option ID : -106

Question ID:- 28

“argd shifad 21’ % WTa o 2Afvered & a1el e § -

(1) TEIHgaT

(2) TG
(3) T ¥ U
(4) R A A TE
Options:-

.1, Option ID :- 109,
. 2, Option ID :- 110,
. 3, Option ID :- 111,

. 4, Option ID :- 112,
Answer Given:- 2, Option ID : -110

Question ID:- 29
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‘g ] GHT i STEYIHA] T Bt H S Elhie § -

(1) 1 R E, 7 o sl
(2)  BIY HIA I SH =
(3) @ ek HIE T9 dh
(4) gad ol Tk =1 TR
Options:-

.1, Option ID :- 113,
. 2, Option ID :- 114,
. 3, Option ID :- 115,

. 4, Option ID :- 116,
Answer Given:- 2, Option ID : -114

Question ID:- 30

7y o7 a7 TR Bl -
(1) 3]

(2 T

(3) =

(4) =Hd

Options:-

.1, Option ID :- 117,
. 2, Option ID :- 118,
. 3, Option ID :- 119,

. 4, Option ID :- 120,
Answer Given:- 3, Option ID : -119

Question ID:- 31

feamgert’ THE Tg o I § -
(1) fEmdgm

(2) fear % fag gaa

(3) fedi &g

(4) =1 A =1

Options:-

.1, Option ID :- 121,
« 2, Option ID :- 122,
. 3, Option ID :- 123,

. 4, Option ID :- 124,
Answer Given:- 3, Option ID : -123

Question ID:- 32



https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON
Google Play

‘g + I’ e dfy fa=de § 2

(1) ==
(2) HEAM
(3) HAm
(4) HAR
Options:-

.1, Option ID :- 125,
. 2, Option ID :- 126,
. 3, Option ID :- 127,

. 4, Option ID :- 128,
Answer Given:- 3, Option ID : -127

Question ID:- 33

(1) I+ W
(2) 3Sg+ER
(3) I+ HR
(4) T+ HR
Options:-

.1, Option ID :- 129,
. 2, Option ID :- 130,
. 3, Option ID :- 131,

. 4, Option ID :- 132,
Answer Given:- 1, Option ID : -129

Question ID:- 34

‘et sl Al S @ 8 F far e v ® -
(1) A=

(2) ST

(3) el

(4) STEA

Options:-

.1, Option ID :- 133,
« 2, Option ID :- 134,
. 3, Option ID :- 135,

. 4, Option ID :- 136,
Answer Given:- 2, Option ID : -134

Question ID:- 35



https://applink.adda247.com/d/XhqWf9lSap

GET IT ON
Google Play

qoEH 7sg T IR T -
(1) W
(2) ®&
(3) ®@l
(4 d
Options:-

.1, Option ID :- 137,
« 2, Option ID :- 138,
. 3, Option ID :- 139,

. 4, Option ID :- 140,
Answer Given:- 2, Option ID : -138

Question ID:- 36

TN I H TR & -
(1) T

(2) @&m

(3) am

(4) I

Options:-

.1, Option ID :- 141,
« 2, Option ID :- 142,
. 3, Option ID :- 143,

. 4, Option ID :- 144,
Answer Given:- 4, Option ID : -144

Question ID:- 37

"SR A o AR HIeehdl STHERR/A | SR R, 91 97T S |

(1) 3S9HI
(2) FH
(3) TIH
(4) eI
Options:-

.1, Option ID :- 145,
. 2, Option ID :- 146,
. 3, Option ID :- 147,

. 4, Option ID :- 148,
Answer Given:- 2, Option ID : -146

Question ID:- 38
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"o1g % FHH 91 o foAT HHE U E -

(1) =Fg-am
(2) AT
(3)
(4) T

Options:-

.1, Option ID :- 149,
« 2, Option ID :- 150,
. 3, Option ID :- 151,

. 4, Option ID :- 152,
Answer Given:- 2, Option ID : -150

Question ID:- 39

‘quy=' g © w T R -

(1) 19 g 9=
(2) UIH Y=
(3) TYH =
(4) TY H Y=
Options:-

.1, Option ID :- 153,
. 2, Option ID :- 154,
. 3, Option ID :- 155,

. 4, Option ID :- 156,
Answer Given:- 2, Option ID : -154

Question ID:- 40

‘e, ot ‘el snfe wss fareRl oTR Wahd R § 2

(1) el
(2
(3 fomy
(4) T
Options:-

.1, Option ID :- 157,
« 2, Option ID :- 158,
. 3, Option ID :- 159,

. 4, Option ID :- 160,
Answer Given:- 1, Option ID : -157

Subject : GK_Q41-Q60_JA0O2MARSH1

Question ID:- 41



https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON
Google Play

organizations ?

Options:-

.1, Option ID :- 161,
« 2, Option ID :- 162,
. 3, Option ID :- 163,
. 4, Option ID :- 164,

The beginning of the movement for the Right to Information (RTI) is traced to which of the following

(1) Bhartiya Kisan Union

(2) Bhartiya Kisan Mazdoor Union
(3) Mazdoor Kisan Shakti Sangathan
(4) National Fish Worker’s Forum

Yol o 31fueRr o fore e ot gEed frefafad § 9 forg dre @ g8 2
(1) vt e giaa

(2) T foREE e g
(3) weig frum wifs Hied
(4) e Ry g9 ®RE

Answer Given:- 4, Option ID : -164

Question ID:- 42

List - I contains name of Countries List - I contains their rank in World Economic Forum’'s Global
Gender Gap Index -2022, Match the countries under List - I with their respective ranks under

List - II :
List -1 List - 1I
(Countries) (Rank)
(A) Bhutan Iy 110
(B) India (IT) 96
(C) Nepal (IIT) 135
(D) Sri Lanka (IV) 126
Select the correct answer using the code given below :
(A) (B) (O (D)
1) @) @m @ o
@ @ @O @) @
G O @ @) @
4) (Iv) O (@ (I
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Tt - 1S9l 3 A § 1 gElt - 11 3, 96 ShFIHeh HRH 51 i T8 Taiael et 119 gmead-2022 ¥, 39 S
% Yo aftfd ¥1 et - 1 % ST=id <9I ! Gt - 11 % ST=11d 3 graf-oq ¥ & Ty gafad &1

T - 1 e - 11
(39r) (&R)
(A) YA @ 110
(B) #rd I 96
(C) Ut (I) 135
(D) dieiert (IV) 126
i feu U Fe &1 WAN HTeh WEl ST T FAA B
(A) (B) (© (D)
(1) av) (m dm) @
(2) @ @O @v) ()
@) @O a «av) ()
(4) @adv) @O @ (L
Options:-
.1, Option ID :- 165,
. 2, Option ID :- 166,
. 3, Option ID :- 167,

. 4, Option ID :- 168,
Answer Given:- 4, Option ID : -168

Question ID:- 43

Which Article, under the Constitution of India, empowers the Government of India to levy and
collect Goods and Services Tax ?

(1) Article 266

(2)  Article 268 A
(3) Article 269 A
(4)  Article 271 A

Frefafed § 9, wRd & e & SF 91 =9 R 9UhR ] a5 31 Ja1 #T (SuE.a) & &R
WTH A 1 TR a1 & 2

(1) =T 266

(2) ST 268 A

(3) 3T 269 A

(4) ST 271 A
Options:-

.1, Option ID :- 169,
. 2, Option ID :- 170,
. 3, Option ID :- 171,
. 4, Option ID :- 172,
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Answer Given:- 1, Option ID : -169

Question ID:- 44

Who was the first Prime Minister of India belonging to a Non-Congress (I) Party ?
(1) Gulzari Lal Nanda

(2) Morarji Desai

(3) Chaudhary Charan Singh

(4) V.P. Singh

TR-HUEr (3TE) S § B ot YRd o YH WHHAT i 92

(1) TSI e T

(2) RIS 3EE

(3) = = g

(4) @ fag
Options:-

.1, Option ID :- 173,
. 2, Option ID :- 174,
. 3, Option ID :- 175,

. 4, Option ID :- 176,
Answer Given:- 2, Option ID : -174

Question ID:- 45

Which of the follwoing is not a member of the Group of Twenty (G20) ?

(1) China

(2) The United Kingdom
(3) Mexico

(4) Singapore

frefafed § ¥ 9 G-20 U &1 9= & 8 ?

(1) =

(2) FTEE fhmen
(3) Hfee!

(4) oy

Options:-

.1, Option ID :- 177,
. 2, Option ID :- 178,
. 3, Option ID :- 179,

. 4, Option ID :- 180,
Answer Given:- 3, Option ID : -179

Question ID:- 46
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Which of the folowing statement/s is/are correct about the PM SHRI Schools Scheme ?

(A) PM SHRI Schools will act as exemplar schools showcasing all components of NEP 2020.
(B) This scheme will apply to schools managed by the Central Government only.

Select the correct answer using the code given below :

(1) (A) only

(2) (B) only

(3) Both (A) and (B)

(4) Neither (A) nor (B)

ot un. &t foener e & s § fefafaa o 9 S o T 9d 82
(A) EE. o fommer wgt faren ifa-2020 (NEP) & @t seal 1 ef¥ia e arel ssony fasmemt
& ®9H FHE FHA

(B) @ ASHI sheled shvs WK g Yaf-+q feremerdi o @ g
i fau 7T Fe &1 YART Fih el ST oA Hif

(1) <haa (A)

(2 A (B)

(3) (A) 3 (B) Tl

(4) (A) 3R (B) § FE off 7
Options:-
.1, Option ID :- 181,
. 2, Option ID :- 182,
. 3, Option ID :- 183,

. 4, Option ID :- 184,
Answer Given:- 1, Option ID : -181

Question ID:- 47

Which of the following is not correct about Lt. General Anil Chauhan ?

(1) He has been recently appointed as Chief of Defence Staff (CDS)

(2) He is also Secretary to Government of India, Department of Military Affairs
(3) He is currently serﬁng as Lieutenant General of the Indian Army |

(4) He is Principal Military Advisor to Defence Minister, Government of India

AR STRe AT =R F favg | fefafes § 9 9 od w68 82
(1) 3 & € H =k it fethy T fgea fomen o 2

(2) o YN TEHR F T A o favm F wfeg o ¥

(3) FTHM H 9 YR T H A= SR % T8 T HIRA ¢ |

(4) o IRA TLHR F & T F U S TAEHR

Options:-
.1, Option ID :- 185,
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. 2, Option ID :- 186,
. 3, Option ID :- 187,

. 4, Option ID :- 188,
Answer Given:- 2, Option ID : -186

Question ID:- 48

Which of the following statement/s is/are correct ?

(A) Tectonic earthquakes are generated due to sliding of rocks along a fault plane.
(B) Volcanic earthquakes are sometimes recognised as Tectonic earthquake.
Select the correct answer using the code given below :

(1)  (A) only

(2)  (B)only

(3) Both (A) and (B)

(4)  Neither (A) nor (B)

Freaferfiad 5 | i 91 o Wal € ?

(A) Toerdfer g yeraet % ferR SIgHT & 9 ST % R I 219 © |

(B) SATETEISF YeTY ! UgaH Hyi-l faadfte Jehd % &9 § =1 5l €1
= QU T 2 1 YAF FHh Fal IR F T L

(1) e (A)

(2) @ (B)

(3) (A) &R (B) I

(4) (A) 3R (B) § | #iE &

Options:-

.1, Option ID :- 189,
. 2, Option ID :- 190,
. 3, Option ID :- 191,

. 4, Option ID :- 192,
Answer Given:- 1, Option ID : -189

Question ID:- 49

Arrange the following Biosphere Reserve in the order in which they were designated as Biosphere
Reserve placing the oldest Biosphere Reserve at the first in the sequence.

(A) Panna

(B) Panchmarhi

(C) Simlipal

(D) Kachchh

Select the correct answer using the code given below :

(D (A) (B), (©). (D)
(2 (B) (©), (A), (D)
3 (©), (B), (D), (A)
(4 (D), (O, (B). (A)
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Fr=fafed stedea =i =1 39 w0 § sxafer =2 59 %9 4 3% Seved =g & &9 9 g fael
Ty [WH Saved f== % %0 § 999 Tt W

(A) T

(B) HEE

(C) Tamefare

(D) =

= fSU U F2 1 TR Fleh Wl ST I TIA B

(1) (A) (B), (O, (D)

(2 (B) (), (A), (
(3) (©), (B), (D), (
(4) (D), (O, (B), (A)
Options:-

.1, Option ID :- 193,
. 2, Option ID :- 194,
. 3, Option ID :- 195,

. 4, Option ID :- 196,
Answer Given:- 4, Option ID : -196

Question ID:- 50

Who founded the newspaper, “‘Udbodhna’ ?
(1) M.K. Gandhi

(2) B.G. Tilak

(3) Aurobindo Ghosh

(4) Swami Vivekananda

' SEEleA " A TATERGS i AT feRge i et 2

(1) THFEIMEHR

(2) @S faoe

(3) eRfa=1 9m

(4) @ faawr<g
Options:-

.1, Option ID :- 197,
« 2, Option ID :- 198,
. 3, Option ID :- 199,

. 4, Option ID :- 200,
Answer Given:- 4, Option ID : -200

Question ID:- 51



https://applink.adda247.com/d/XhqWf9lSap

Adda247

Which of the following is the correct timeline of the enactment of the Equal Opportunity Act by
the US.Congress in response to Women's movement ?

(1) 1930 - 40
(2) 1940 - 50
(3) 1970 - 80
(4) 2000 - 2010

Tfgen sT<rer & Teger H R g & g afufafma e e gam s sifufaem 5t gd g

Treafafad § 9 % & 22
(1) 1930 - 40
2) 1940 - 50
3) 1970 - 80

(
(
(4) 2000 - 2010
Options:-

.1, Option ID :- 201,

. 2, Option ID :- 202,

. 3, Option ID :- 203,

« 4, Option ID :- 204,
Answer Given:- 1, Option ID : -201

Question ID:- 52

Which of the following is the correct description of the terms, “Santa Maria, Pinta and Nina" ?
(1) They are famous novelists

(2) They are name of islands, discovered by Vasco da Gama

(3) They are ships used by Columbus

(4) They are offficial mascots of various Olympic games

‘e i, famer @i i wsdi w wa foya Frefafed § & @ g2
(1) 3 7= STIEFR T

(2) TR ST BRI @IS gg A 2193 % A E

(3) & HIcTHaE % FRI WANT H S 7T SErSi & A F

(4) 3 fafim sieafos Ge & snfumfes geia g1

Options:-

.1, Option ID :- 205,

. 2, Option ID :- 206,

. 3, Option ID :- 207,

. 4, Option ID :- 208,
Answer Given:- 4, Option ID : -208

Question ID:- 53
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As per UNDP Human Developmetnt Report - 2011, which of the following countries has the
lowest Human Development Index Value (HDI value) ?

(1) Iran

(2) India

(3) Bangladesh
(4) Sri Lanka

A ELd. aFe fasm fei-2011 % s7gaR, frefafea 9 9 fFg S0 &1 97e fawr ga@is 9

(HDI Value) T8 &4 & ?
(1) =

(2) o

(3) SR

(4)  sfieie

Options:-

.1, Option ID :- 209,
. 2, Option ID :- 210,
. 3, Option ID :- 211,

. 4, Option ID :- 212,
Answer Given:- 4, Option ID : -212

Question ID:- 54

As per Economic Survey 2021-22, what is the expected growth rate of India’s GDP IN 2022-23 ?

(1) 35-4%
2 5%

(3) 7.2%
(4) 8-85%

sfefar THiaT 2021-22 % STHHR, 2022-23 H 9RG & SI.ELW. # e fomm-ax #0172

(1) 35-4%
2) 5%
(3) 7.2%
(4) 8-85%
Options:-

.1, Option ID :- 213,
. 2, Option ID :- 214,
. 3, Option ID :- 215,

. 4, Option ID :- 216,
Answer Given:- 3, Option ID : -215

Question ID:- 55
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Nikhat Zareen has been conferred upon Arjuna Award 2022 for which of the following

sports ?

(1) Boxing

(2) Chess

(3) Badminton
(4) Wrestling

Frefafed § § frg @@ & fau frad S0+ 1 e[ qrerr-2022 vem T w2

Options:-

.1, Option ID :- 217,
« 2, Option ID :- 218,
. 3, Option ID :- 219,

. 4, Option ID :- 220,
Answer Given:- 1, Option ID : -217

Question ID:- 56

Dronacharya Award - 2022 was conferred upon whom of the following ?
(1) Dinesh Jawahar Lad

(2) T.P. Ouseph

(3) Pritam Siwach

(4) Jai Prakash Nautiyal

Frefafea § § fo Smmarel gewr-2022 9 gemfaa fran T2

(1) &9 e &g
(2) 2. ST

(3) it faara

(4) 9 YR AT

Options:-

.1, Option ID :- 221,
. 2, Option ID :- 222,
. 3, Option ID :- 223,

. 4, Option ID :- 224,
Answer Given:- 4, Option ID : -224

Question ID:- 57
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Which of the following is a nanotechnology based disinfectant spray developed to fight Covid-19 ?
(1) Shunya

(2) Arica

(3) Covirom

(4) Ananya

Trefafad | 9 F |1 U iR 9 AT SI2UENes 9 ¢, 59 Fifas-19 9 @27 & foau fomfad

oo T % ?

(1) A

2) T

(3) iferdiH

(4) =Y
Options:-

.1, Option ID :- 225,
. 2, Option ID :- 226,
. 3, Option ID :- 227,

- 4, Option ID :- 228,
Answer Given:- 3, Option ID : -227

Question ID:- 58

Web3 technology includes which one of the following features ?
(A) Semantic Web

(B) Artifcial Intelligence

(C) DLT ( Distributed Ledger Technology)

Select the correct answer using the code given below :

(1) (A) and (B) only
(2) (A) and (C) only
(3) (B) and (C) only
(4 (A) (B) (Q)
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a9 3 dehR § Frefafad § @ &F O fagrand onfiya €2
(A) foaf=s o=

(B) M 95 (Artifcial Intelligence)

(©) Erlwad. (faafa s Iefe)

= faU T e 1 YAN HF el ST B =TI R

(1) = (A) R (B)

(2) HEA (A) FR(O)

(
(

3)  Fad (B) 3R (C)
4) (A), (B), (©)

Options:-

.1, Option ID :- 229,
« 2, Option ID :- 230,
. 3, Option ID :- 231,

. 4, Option ID :- 232,
Answer Given:- 1, Option ID : -229

Question ID:- 59

Which of the following statement/s is not correct ?
(1) Kyoto protocol was adopted in 1997

(2) United Nations Framework Convention on Climatte change (UNFCCC) came into force in
1992

(3) The Paris Agreement was adopted in 2015
(4) COP-27v was held in 2022 (Conference of Parties)

Freafafaa o § 9 oF @ 98 78 € 2

(1) TR Yerehia 1 1997 H 971 772 o1 |

(2) ‘SierErg gREdd W HgE U8 hHas e’ (UNFCC) 1992 H @] g3 |
(3) Uf™ wmEi @1 2015 | ST9HET T o

(4) COP-27 (FFhH 3% TEIS) 1 STERH 2022 H 3T 411

Options:-

.1, Option ID :- 233,
. 2, Option ID :- 234,
. 3, Option ID :- 235,

. 4, Option ID :- 236,
Answer Given:- 3, Option ID : -235

Question ID:- 60
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Nobel Peace Prize for the year 2022 has been conferred upon :
(1) Maria Ressa

(2) D.A. Muratov

(3) Ales Bialiatski

(4) Abiy Ahmad Ali

Y 2022 % fau 7Y @ wifd geeR 9 T T %
1) wfE &

(

(2) ST HuEE

(3) Uty foEnfermaent
(4) T 3EHE el

Options:-

.1, Option ID :- 237,
« 2, Option ID :- 238,
. 3, Option ID :- 239,

. 4, Option ID :- 240,
Answer Given:- 3, Option ID : -239

Subject : LR_Q61-Q80_JA02MARSHT1

Question ID:- 61

In the following question there is certain relationship between two given words on left side of (: :)
and one word is given on another side of (: :) while another word is to be found from the given

alternatives having the same relation with, this word as the given pair has. Select the logically
correct alternative.

Apple : Fruit : : Onion :

(1) Root
(2) Stem
(3) Leaf
(4) Flower

Frefafad wea 5 (::) & 9 @R fou e 31 vres) | us fAfvan Ha € 3 (:2) o T 3IR U v fen
% Vs g UH w2 o feu T fasedi | A W e § o de uee et g S ¥ ashEa wa
fareheq sl FATE it |

T

Options:-
.1, Option ID :- 241,
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. 2, Option ID :- 242,
. 3, Option ID :- 243,

. 4, Option ID :- 244,
Answer Given:- 2, Option ID : -242

Question ID:- 62

Find the next term of series :
6, 10, 19, 35, 60, 96, ?

(1) 115

(2) 125

(3) 135

(4) 145

< T Soft F 7T vg 9 Hife |
6, 10, 19, 35, 60, 9, ?
(1) 115

(2) 125

(&) 135

(4) 145
Options:-

.1, Option ID :- 245,
. 2, Option ID :- 246,
. 3, Option ID :- 247,

. 4, Option ID :- 248,
Answer Given:- 4, Option ID : -248

Question ID:- 63

The sum of first 100 terms of an arithmatic series is 20,600. If the first term of the series is 8, then
what is the 100 th term of the series ?

(1) 408
(2) 404
(3) 396
(4) 412

T TR 9011 & 9&el 100 981 &1 30 20,600 & | Al 39 999 Ug 8 © oI S0 &1 100 91 9 1§ ?

(1) 408
(2) 404
(3) 396
(4) 412
Options:-

.1, Option ID :- 249,
. 2, Option ID :- 250,
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. 3, Option ID :- 251,

. 4, Option ID :- 252,
Answer Given:- 2, Option ID : -250

Question ID:- 64

The following question consists of a group of letters in which all of them except one share a common
similarity while one is different. Select the odd one.

BD; FH, JL, NP,-RS, TV

(1) BD
(2 JL

(3) RS
(4) TV

Frefafad wea 5 w15l =1 v 9uE 2, 5o v 1 8 = 9l 1 5aH gu%yd ¢ safE v fie g ) faum
1 A HITST ;

BD, FH, JL, NP, RS, TV

(1) BD
(2 JL
(3) RS
(4 TV

Options:-

.1, Option ID :- 253,
. 2, Option ID :- 254,
. 3, Option ID :- 255,

. 4, Option ID :- 256,
Answer Given:- 3, Option ID : -255

Question ID:- 65

Which sequence of letters when placed at the blanks one after another will complete the given
letter series :

a cb b ba c ab b

(1)  bacbbe
(2) bbcbbe
(3) bacbac
(4)  bbcbac

o 278/ 1 9 F TH & 918 Uk Giell 20F W I F & . TR’ 1 g@en goi gt ;
a cb b bacabb

(1) bacbbc

(2) bbcbbe

(3) bacbac

(4) bbcbac
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Options:-

.1, Option ID :- 257,
. 2, Option ID :- 258,
. 3, Option ID :- 259,

. 4, Option ID :- 260,
Answer Given:- 1, Option ID : -257

Question ID:- 66

Find the next term of series :
AC, FH, IK, NP, SU, _ ?

(1) YZ
Q) Xz
(3) WY
(4) UX

Fuit AC, FH, IK, NP, SU, _? ohl 37T UE 1 hifoId :

(1) YZ
(2) XZ
(3) WY
(4) UX
Options:-

.1, Option ID :- 261,
« 2, Option ID :- 262,
. 3, Option ID :- 263,

- 4, Option ID :- 264,
Answer Given:- 2, Option ID : -262

Question ID:- 67

If in a certain code language ‘CHESS' is written as ‘hlhut’then how will ‘PLATE’ be written in that

language ?

(1) voduf
(2) uodvf
(3) updvf
(4) vpduf

Ife ts FAffEd Fe MM 'CHESS &l 'hlhut fo@ S g, @1 39 w1 & 'PL A T E' &1 &9 faan

ST ?

(1) voduf
(2) uodvf
(3) updvf
(4 vpduf

Options:-
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.1, Option ID :- 265,
« 2, Option ID :- 266,
. 3, Option ID :- 267,

- 4, Option ID :- 268,
Answer Given:- 2, Option ID : -266

Question ID:- 68

‘Game’ is related to ‘Player” in the same way as ‘examination” is related to which of the following
»

(1) Examiner
(2) Examinee
(3) Invigilator
(4) Student

S ‘e o ey faerdl’ |8, o E e’ ey e A A e A e 2

(1) Thes
(2) oiEmei
3) fadiams
(4) famneff
Options:-

.1, Option ID :- 269,
- 2, Option ID :- 270,
. 3, Option ID :- 271,

. 4, Option ID :- 272,
Answer Given:- 2, Option ID : -270

Question ID:- 69

The following question consists a group of numbers in which all of them, except one, share a
common similarity. Which one is different ? Select the odd one.

121, 216, 343, 512, 729, 1000, 1331

(1) 121
(2) 343
(3) 729
(4) 1331

frefafed ged H s &1 T 99E 7, S99 T &1 22 w9l F gHE 9EEd § | A W 3w 9 82

oo =1 AT hifere |

121, 216, 343, 512, 729, 1000, 1331
(1) 121

(2) 343

(3) 729

(4) 1331
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Options:-

.1, Option ID :- 273,
. 2, Option ID :- 274,
. 3, Option ID :- 275,

. 4, Option ID :- 276,
Answer Given:- 2, Option ID : -274

Question ID:- 70

In the following question choose that set of numbers from the four alternative sets, which is similar
to the given set.

(36, 29, 15)

(1) (21, 14, 0)
2 (25,12, 5)

(3) (48, 34, 20)
4) (37, 25, 6)

7 wvd § IR dekfous el § § 39 Sen-gge @l 9 s o fou T e aasu E
(36, 29, 15)

(1) (21, 14, 0)
(2) (25, 12, 5)
(3) (48, 34, 20)
(4) (37, 25, 6)
Options:-

.1, Option ID :- 277,
. 2, Option ID :- 278,
. 3, Option ID :- 279,

. 4, Option ID :- 280,
Answer Given:- 1, Option ID : -277

Question ID:- 71

If A+ B mean ‘B is the sister of A”, A X B means ‘B is the mother of A" and A%B means ‘B is the
husband of A’ then what does Px Q%R +S mean ?

(1) Sis the niece of P

( S is the maternal aunt of P
(3) S is the paternal aunt of P
(4) Sis the cousin of P
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ARA+BH AT, ‘BAR AT AxBHF AL, B A FI O sit 81" R A%B F a1 §, ‘B, A
Fufd 8 @ PxQ%R+S 1 374 &2

(1) S, P oI st 2

(2) S, P e HE (1) 7

(3) S, PRI g (37 B

(4) S, P &l wivH (I, W, 989 7 9E) )

Options:-

.1, Option ID :- 281,
. 2, Option ID :- 282,
. 3, Option ID :- 283,

. 4, Option ID :- 284,
Answer Given:- 1, Option ID : -281

Question ID:- 72

In the fo]lowing question, a series is given, with one term missing. Choose the logica]ly correct
alternative from the given ones that will complete the series.

X3C, V5E, 9L, 2 , P230, N33R, LABL

(1) R14]
(2) QI5K
(3) RI5L
(4 Q14]

e oA o wek gl < T 2, S U ue fagw @1 feu T faekedi § 6 39 qehed WEl fasey s gAE
wifsre i for <t 78 oM =1 ol e 2|
X3C, V5F, T91, _ 2, P230, N33R, L45U

(1) R14]
(2) Q15K
(3) RI15L
(4 Q14]

Options:-

.1, Option ID :- 285,
. 2, Option ID :- 286,
. 3, Option ID :- 287,

. 4, Option ID :- 288,
Answer Given:- 4, Option ID : -288

Question ID:- 73
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In a certain code language "TIP is coded as 36 and “TAP’ is coded as “44’. How will "TOP’ be coded
as in that language ?

(1) 30
(2) 32
(3) 34
(4) 38

T FAET R o 8 TIP FFS36 AN TAP FHE 44" 8 SH AN H 'TOP' H IS 91 8RN 2

(1) 30
(2) 32
(3) 34
(4) 38
Options:-

.1, Option ID :- 289,
. 2, Option ID :- 290,
. 3, Option ID :- 291,

. 4, Option ID :- 292,
Answer Given:- 4, Option ID : -292

Question ID:- 74

Which of the following words can be formed using the letters of the word "TEXAMINATION'?
(1) NATIONAL

(2) EXAMINE
(3) ANIMATION
(4) TENSION

T=E'EXAMINATION' &% & &1 v3m = fFefafeg o=k 9 9 g =g =1 fmior foen s gean
2?2
(1) NATIONAL

(2) EXAMINE

(3) ANIMATION

(4) TENSION
Options:-

.1, Option ID :- 293,
. 2, Option ID :- 294,
. 3, Option ID :- 295,

. 4, Option ID :- 296,
Answer Given:- 3, Option ID : -295

Question ID:- 75
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The following question consists a group of words in which all of them except one share a common
similarity while one is different. Select the odd one.

(1) Brother
(2) Sister

(3) Bachelor
(4) Cousin

1 e H sl o 9 B, o e il see 94t § 9ae 9uEd © st ue e 2 ) fowm @ g
it ?

(1) o8

(2) =&

(3) faEnfed

(4) A (TR TH-E/TE)

Options:-

.1, Option ID :- 297,
« 2, Option ID :- 298,
. 3, Option ID :- 299,

. 4, Option ID :- 300,
Answer Given:- 3, Option ID : -299

Question ID:- 76

In the following there is certain relationship between two given numbers on left side of (: :) and one
number is given on another side of (: :) while another number is to be found from the given

alternatives having' the same relation with this number as the given pair has. Select the logically
correct alternative.

10 299 ¢ + 11
(1) 101
(2) 102
(3) 110
(4) 120

Freafafad wea 9 (: ;) & 9l @A) & . < densd | v g S99 @ o1 (2 :) & g R U e &
¢ &, Seifeh gud Ut Hen =1 fou v fasredi | | 3| e § g gey veel a1 v S € | adETd e

fereheq ol FATE ShIfoTT |
10 #9957 FL;

(1) 101

(2) 102

(3) 110

(4) 120
Options:-

.1, Option ID :- 301,
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« 2, Option ID :- 302,
- 3, Option ID :- 303,

. 4, Option ID :- 304,
Answer Given:- 3, Option ID : -303

Question ID:- 77

In the following question each given letter has been numbered. Choose the option which gives the
correct order of the letters as indicated by the numbers to form a meaningful word.

ACHMR
12345
(1) 15324
(2) 24135
(3) 32154
(4) 41523

ek e o fere 1 wee | Uk HeA €1 T © 1 39 fashed o1 g sifere 1 fok feu e sl | sregul wes
= o forg 21ei o ét w9 e w1

ACHMR
12345
(1) 15324
(2) 24135
(3) 32154
(4 41523
Options:-

.1, Option ID :- 305,
. 2, Option ID :- 306,
. 3, Option ID :- 307,

. 4, Option ID :- 308,
Answer Given:- 4, Option ID : -308

Question ID:- 78

The following question consists of a group of words in which all of them except one, share a
common similarity while one is different. Select the odd one.

Assam, Agartala, Manipur, Meghalaya, Mizoram, Nagaland, Tripura.
(1) Agartala

(2) Meghalaya
(3) Nagaland
(4) Tripura
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171 7o H U Wik o6 HE @, fSrEH T o B1E Rl H HHA GRS © Sidich Uk 19 ¢ | fad w1 g
IS |

(1) STRde
(2) HE@E
(3) HANMAS
(4 f
Options:-

.1, Option ID :- 309,
« 2, Option ID :- 310,
. 3, Option ID :- 311,

. 4, Option ID :- 312,
Answer Given:- 1, Option ID : -309

Question ID:- 79

There are set of words given in the following question. Choose the option which even after putting
it before the set of words will make all of them meaningful words.

ABLE, SURE, TRUST, CLOSE

(1) DIS
(2) EN
(3) RE
(4) UN

=7 womr © st o T fon T ¥ 1S9 faew = g S fau T wssi 3 age o o form e oft Tedt
1 o] I a1 S
ABLE, SURE, TRUST, CLOSE

(1) DIS
(2) EN
(3) RE
(4 UN

Options:-

.1, Option ID :- 313,
« 2, Option ID :- 314,
. 3, Option ID :- 315,

. 4, Option ID :- 316,
Answer Given:- 4, Option ID : -316

Question ID:- 80
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Rearrange the unorganised letters to create meaningful words and then choose the word which is
different from others ?

(1) OWSN
(2) AIRN
(3) NDIW
(4) DNPO

FAaTEdd FAeRl Fl T9: HaREgd T g veg o3 SR fiR 39 92 o1 g Shifere S fof o= | fam 21

(1) OWSN
(2) AIRN

(3) NDIW
(4) DNPO
Options:-

.1, Option ID :- 317,
« 2, Option ID :- 318,
. 3, Option ID :- 319,

. 4, Option ID :- 320,
Answer Given:- 4, Option ID : -320

Subject : CL_Q81-Q100_JA02MARSH1

Question ID:- 81

Which of the following is an input device ?
(1) Light Pen

(2) LED

(3) Speaker

(4) Plotter
freafafad § | 0 U 3992 93 76 8 2
(1) e

(2) TUERED

(3) WY

(4) TR

Options:-

.1, Option ID :- 321,
« 2, Option ID :- 322,
. 3, Option ID :- 323,

. 4, Option ID :- 324,
Answer Given:- 3, Option ID : -323

Question ID:- 82
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(1)

(1)
2)
3)

(
(
(4)

Which of the following is the correct ascending order of memory units (as per the capacity) ?

KiloByte, Mega Byte, Giga Byte, Tera Byte, Xeta Byte
KiloByte, Mega Byte, Tera Byte, Giga Byte, Xeta Byte
KiloByte, Mega Byte, Giga Byte, Xeta Byte, Tera Byte
KiloByte, Giga Byte, Mega Byte, Tera Byte, Xeta Byte

frefafea § & %4 w fawes gyen swrdl # 3fEd alE #9 8 (ST gHa-31g9n) ?

fepett age, AT 182, AT 91Ee, SiEl dEe, ol 9Re

Options:-

.1, Option ID :- 325,
« 2, Option ID :- 326,
. 3, Option ID :- 327,

. 4, Option ID :- 328,
Answer Given:- 1, Option ID : -325

(1)

(1)
(2
(3
(4)

)
)

Question ID:- 83

Which of the following is not an Operating System ?

UNIX
MS offlice
Android

Linux

=79 F I U e wonet e faeeg R R 2

RIEE:
Uy 3fRg
o
IGEE:]

Options:-

.1, Option ID :- 329,
« 2, Option ID :- 330,
. 3, Option ID :- 331,

. 4, Option ID :- 332,
Answer Given:- 2, Option ID : -330

Question ID:- 84



https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON
Google Play

is not an Antivirus software.

Teh S HiRas T8l &2

(1) Norton

(2) Tally

(3) Mcafee

(4) Quickheal

(1) A

() 2

(3)  HeRUH!

(4) fFnda
Options:-

.1, Option ID :- 333,
. 2, Option ID :- 334,
. 3, Option ID :- 335,
. 4, Option ID :- 336,

Answer Given:- 3, Option ID : -335

Question ID:- 85

Fardeen Syal is working on his project report and is interested in typing the same using an easy to
use software with formatting, page setting and styling features. Which of the following will be
ideal for the same ?

(1) Acrobat Reader

(2) Calce
(3) Notepad
(4) MS Word

WEH B 9T giEsH e # UE 9o Siees § 2Ry & 9Ed 2, f9d 9 stEEt ¥ 99 IEy
(wiidfen), g8 yeieM (U9 Afdn) iR digdiemm (wiEfan) a0 w2 9 | 379% fou fF=fafas 5 @ 5 gead

IUH BT ?
(1) b et
(2) e

(3) HRts
(4) TUHTHEE
Options:-

.1, Option ID :- 337,
« 2, Option ID :- 338,
. 3, Option ID :- 339,
. 4, Option ID :- 340,

Answer Given:- 4, Option ID : -340



https://applink.adda247.com/d/XhqWf9lSap

Adda247

Question ID:- 86

Amritya Veena is planning to connect 15 computers of her training center using Ethernet Cable.
Which one of the following devices should she use for the same ?

(1) Switch
(2) UPS
(3) HDMI Splitter
(4) Repeater

ST ST A9 FISET0 g 3 15 Fedl 1 22 a1 F HIeAg I Siel =t €1 3% 59 wH & fag T
o 43 & SqFm A =feu ?

(1) fe=

() e

(3) TEEiHeTE fefae

(4) Tdiex
Options:-

.1, Option ID :- 341,

. 2, Option ID :- 342,

. 3, Option ID :- 343,

. 4, Option ID :- 344,
Answer Given:- 3, Option ID : -343

Question ID:- 87

Which of the following ports is the most primitive for connecting a Video output device on a
PC/a Laptop ?

(1) HDMI
(2) PS2
(3) VGA
(4) USB

Freafafead § & =iF o1 faewey te FreyeTe 4 difed sieeqe 43 Fi Sied & 999 IO e 2
(1) TESTEeTE

(2) " 2
(3) i
(4) Fumd
Options:-

.1, Option ID :- 345,
. 2, Option ID :- 346,
. 3, Option ID :- 347,

. 4, Option ID :- 348,
Answer Given:- 4, Option ID : -348
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Question ID:- 88

Which is the term used for 4 bits together ?
(1) Quardbit

(2) bits
(3) Byte
(4) Nibble
4 29 % TS ) P Fed § 2
(1) e
(2 fazm
(3) ®mEe
(4) TAee
Options:-

.1, Option ID :- 349,
« 2, Option ID :- 350,
. 3, Option ID :- 351,

. 4, Option ID :- 352,
Answer Given:- 4, Option ID : -352

Question ID:- 89

is a file extension of an image file ?

(1) mp3

(2) mov

(3) ff

(4) mpeg

e o eiHl (3H%) WiEel 1 wige T § |

(1) mp3

(2) mov

(3) ff

(4) mpeg

Options:-

.1, Option ID :- 353,
« 2, Option ID :- 354,
. 3, Option ID :- 355,

. 4, Option ID :- 356,
Answer Given:- 2, Option ID : -354

Question ID:- 90
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Which of the following is the correct full form of TCP ?
(1) Transmission Control Protocol

(2) Transportation Control Protocol
(3) Transmission Central Protocol

(

4)  Transport Control Protocol

Freafafad o 9 9o it = gegol 3fad s o1 &2
(1) EfaeE F2e deena

(2) MUY Hle YRl
(3) i Hee e
(4) YR e T
Options:-

.1, Option ID :- 357,

. 2, Option ID :- 358,

« 3, Option ID :- 359,

. 4, Option ID :- 360,
Answer Given:- 2, Option ID : -358

Question ID:- 91

Which of the following is not valid about an email address ?
(1) Email Address should have one @ symbol

2) Email Address can have multiple dot (.) operator
3) Email Address can not have space in it

(
(
(4) Email Address can have any number of @ symbol

Freafafad 9 | 70 ©F $0a ugH & Hed 4 9y 6 7 2
(1) 35 Uy ¥ u% @ 1 fawg 391 ey

(2) UG USH W wgd W ele () AT g T §
(3) EOe ugg ¥ fp T & 9 g

(4) Shel ueE ¥ e @ % o= @ wed §

Options:-

.1, Option ID :- 361,
. 2, Option ID :- 362,
. 3, Option ID :- 363,

. 4, Option ID :- 364,
Answer Given:- 4, Option ID : -364

Question ID:- 92
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The following is the combination of keys used to copy a selected text in word processing software.

(1) CIRL+C
(2) ALT+C

(3) CITRL +p
(4) CTRL+Y

o€ grfen wiedeR § =i fafed ard &1 i e % fau #iere 1 eg uidswe &l & S g &

(1) e + El
(2) Hlez + 9
()
(4) wheiet + 1
Options:-

.1, Option ID :- 365,
« 2, Option ID :- 366,
. 3, Option ID :- 367,

. 4, Option ID :- 368,
Answer Given:- 1, Option ID : -365

Question ID:- 93

is used to quickly apply the same formatting, such as color, font style and size, or
border style, to multiple pieces of text or graphics.

(1) Format Copy
(2) Format Stamp
(3)

(

4)  Format Move

Format Painter

ST 37er fafad qrlt =1 Witk = §0F T, w2, 3R, S § Yefd ®id g0 U 9% § &M &

forw o 39 e S R
(1) wH Gt
(2) HHE ¥y
(3) THHZ YT
(4) wH T
Options:-

.1, Option ID :- 369,
. 2, Option ID :- 370,
. 3, Option ID :- 371,

. 4, Option ID :- 372,
Answer Given:- 1, Option ID : -369

Question ID:- 94
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are the visual effects which appear in PowerPoint when one slide moves to the next.

(1) Slide Movements

(2) Slide Transitions

(3) Slide Effects

(4) Slide Frames

TR Eiise H TF WiEe ¥ o el wigs H §H W foer e fagse st BT
(1) TS e

(2) TEE ZifseE

(3) TS 3HR

(4) AT W
Options:-

.1, Option ID :- 373,
« 2, Option ID :- 374,
. 3, Option ID :- 375,

. 4, Option ID :- 376,
Answer Given:- 2, Option ID : -374

Question ID:- 95

The following is not by default installed with MS Windows.

(1) MS Paint

(2) Notepad

(3) Clock

(4) MS Powerpoint

frefafea 9 9 @ affarl ®9 9 uouy faes ¥ 32a a0 fn <t ?

(1) TUHEE ¥z

(2) ArRUs

(3) Ah

(4) TTHEH WA

Options:-

.1, Option ID :- 377,
. 2, Option ID :- 378,
. 3, Option ID :- 379,

. 4, Option ID :- 380,
Answer Given:- 3, Option ID : -379

Question ID:- 96
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MS Office does not contain the following as its part.
(1) MS Word

(2) MS Powerpoint

(3) MS Paint

(4) MS Excel

frafafaa § 9 1 ooy iRy =1 397 961 ¢ -

(1) THEE g8

(2) THUH TEL GEe

(3) THUH Y2

(4) THTH TR
Options:-

.1, Option ID :- 381,
« 2, Option ID :- 382,
. 3, Option ID :- 383,

. 4, Option ID :- 384,
Answer Given:- 3, Option ID : -383

Question ID:- 97

is not a basic function of MS Excel.

(1) count()

(2) sum()

(3) max()

(4) addition()

_ THUE THA F O F T
(1) count()

(2)  sum()

(3) max()

(4) addition()

Options:-

.1, Option ID :- 385,
« 2, Option ID :- 386,
. 3, Option ID :- 387,

. 4, Option ID :- 388,
Answer Given:- 3, Option ID : -387

Question ID:- 98
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Which of the following is true about cell range in MS Excel ?

(1) Collection of chosen cells
(2) Collection of formula
(3) Collection of values

(

4)  Collection of occupied cells

Trefafeg °§ 4 tauy v & 80 39 & 91§ Se-91 fasey 3fEa 2
(1) =t I =1 998

(2) RIS F WS

(3) g H YR

(4) o T A w6
Options:-

.1, Option ID :- 389,

« 2, Option ID :- 390,

. 3, Option ID :- 391,

. 4, Option ID :- 392,
Answer Given:- 3, Option ID : -391

Question ID:- 99

Which of the following can not be reported as Cyber Crime ?

(1) Threatening someone on social media platform

2)  Theft of a brand new hard disk from a showroom

3) Sharing of pornographic content online without age restriction

4) Entering in someone’s online bank account and transferring money from there

(
(
(

Freafafea § & fo s AR 3T 1 T 51 Tal {2 ST e
(1) Tt =1 Hiere Hifean 59 T gmsE

(2) wiEH 7 we fews g

(3) I & UESl o AR ATl WIRR 1 AT faarm
(4) ford & stfenes S @ | Fu ot i ot B
Options:-

.1, Option ID :- 393,

. 2, Option ID :- 394,

. 3, Option ID :- 395,

. 4, Option ID :- 396,
Answer Given:- 2, Option ID : -394

Question ID:- 100
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What does s stand for in https ?
(1) Secure

(2) Security

(3) Stream

(4) Space

THTE | TH o oY § 7

%’ﬁég

Options:-

.1, Option ID :- 397,
« 2, Option ID :- 398,
. 3, Option ID :- 399,

. 4, Option ID :- 400,
Answer Given:- 2, Option ID : -398

Subject : QA_Q101-Q120 _JA02MARSH1

Question ID:- 101

56

5 35,28 7 ”
—of —+ — — — isequalto:
7%12 7 9 56
61
1 il
ST
63
7 03
@ 2
63
3 iz
(3) -
@ 2
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3B 5B T s
12 7 9 56
61
1 il
@ 112
63
2 —
@ 112
63
3 ot
(3) —
21
4 ==
(4) B
Options:-

.1, Option ID :- 401,
« 2, Option ID :- 402,
. 3, Option ID :- 403,

- 4, Option ID :- 404,
Answer Given:- 1, Option ID : -401

Question ID:- 102

2+ 3-46 &
If 3J2-273 3+46 = a+bv6 then what is the value of (5a+6b) ?

(1) 0O

(2 1

(3) 2

(4) 4

V24V3  3-6 ‘

e 32 —23 3446 a+bv6g, dl (5a+ 6b) &1 HH 16 ?
(1) 0

2 1

(3) 2

(4) 4

Options:-

.1, Option ID :- 405,
« 2, Option ID :- 406,
. 3, Option ID :- 407,

. 4, Option ID :- 408,
Answer Given:- Not Attempted

Question ID:- 103
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Let x be the greatest number which when divides 1352, 1917 and 2708, the remainder in each case
is the same. What is the sum of the digits of x ?

(1) 5
2 6
3) 7
(4) 8

x Uk TSt 9§ TSl T 39 YR ¢ o 1352, 1917 3R 2708 &l 399 1N & W UIES & SO H THH A
B &1 x 37l 1 AT 7 2

(1 5
2) 6
3) 7
(4 8
Options:-

.1, Option ID :- 409,
. 2, Option ID :- 410,
. 3, Option ID :- 411,

. 4, Option ID :- 412,
Answer Given:- 4, Option ID : -412

Question ID:- 104
If the 5-digit number 526xy is divisible by 3, 7 and 11, what is the value of ,/4x + 3y ?
1) 342

(2 443
3) 243
(4) 542

TS 5-37hT @A 5260y, 3, 7 AR 11 § fawma &, a1 fax + 3y &1 °F &1 &2

1) 342
(2 443
(3 243
(49 542
Options:-

.1, Option ID :- 413,
« 2, Option ID :- 414,
. 3, Option ID :- 415,
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. 4, Option ID :- 416,
Answer Given:- 1, Option ID : -413

Question ID:- 105

5
The value of ¥6.25 X3 — /2.25 X 7 is equal to :

(1)  4.00
(2) 5.25
(3)  7.50
(4) 9.25

J6.25 x3 — 2.25 x% & {6

(1) 4.00
(2) 5.25
(3) 7.50
(4) 9.25
Options:-

.1, Option ID :- 417,
. 2, Option ID :- 418,
. 3, Option ID :- 419,

. 4, Option ID :- 420,
Answer Given:- 2, Option ID : -418

Question ID:- 106

In a school, the number of students is x, out of which 40% are girls and rest are boys. 45% of boys
and 60% of girls pass in a test. If the number of students who failed is 196, then what is the value

of x ?

(1) 300
(2) 350
(3) 400
(4) 450

e foramer H, famnfeai it gw x B, o 40% wrefeat aun 99 o2 § 1 U qden § 45% SF aU1 60%
ereferi e g2 | afg et gu farenfelai 1 e 196 €, @ x 1 wH w2

(1) 300
(2) 350
(3) 400
(4) 450
Options:-

.1, Option ID :- 421,
. 2, Option ID :- 422,
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. 3, Option ID :- 423,

. 4, Option ID :- 424,
Answer Given:- 3, Option ID : -423

Question ID:- 107

If (x +10)% of 200 is 33 % % more than x% of 180, then (x—10)% of (4x+10) is equal to :

(1) 80
(2) 84
(3) 100
(4 124

200 T (x+10)% 3fE 180 % x% & 33 %% sifera ®, A (4x +10) F (x—10)% TR E :

(1) 80
(2) 84
(L) 100
(4) 124
Options:-

.1, Option ID :- 425,
« 2, Option ID :- 426,
. 3, Option ID :- 427,

. 4, Option ID :- 428,
Answer Given:- 3, Option ID : -427

Question ID:- 108

Neeru bought 39 kg of sugar for ¥ 1,579.50 and sold it at a profit equal to the selling price of 9 kg
of it. What is the selling price of one kg of sugar ?

(1) T 5025
(2) T 5145
(3) T 51.85
(4) T 5265

1% 9 39 kg =41 T 1,579.50 H @Il 3R 39 9 kg =l % foskd goa o aver oy T o9 fear TH kg
=11 1 forsha goa w0 8 2

(1) ¥ 50.25
(2) T 5145
(3) ¥ 51.85
(4) T 52.65
Options:-

.1, Option ID :- 429,
- 2, Option ID :- 430,
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. 3, Option ID :- 431,

- 4, Option ID :- 432,
Answer Given:- 1, Option ID : -429

Question ID:- 109

On selling a table for ¥ 7,200 in place of I 9,000, loss percent of the shopkeeper increases by 6%.
The cost price of the table is :

(1) ¥ 30,000

(2) T 27,000
(3) T 24,000
(4) T 21,000

foret BT =1 € 9,000 o ¥&IM T T 7,200 H o= W gHFER i 81 Ufaerd | 6% 1 Ifs 81 Sl &1 39 o
Wﬂ@%:

(1) ¥ 30,000

2) 27,000

3

(

(3) T 24,000
(4) ¥ 21,000
Options:-

.1, Option ID :- 433,
. 2, Option ID :- 434,
. 3, Option ID :- 435,

. 4, Option ID :- 436,
Answer Given:- 1, Option ID : -433

Question ID:- 110

A sum of T 4,500 is divided between A, B and C such that the ratio of the share of B to the
combined the share of A and C is 2 : 7 and the ratio of the combined share of A and B to the share
of Cis 11 : 4. What is the share of A ?

(1) ¥ 2,150
2) T 2,200
(3) T 2,250
(4) T 2,300

34,500 %1 TH T H1 A, BIRCH 35 Y&R diel 9@ 2 % B % 97 &1 A 3R C & T 91 9 {Id
2:7% R AT BFH TYH AT FCF 9T Y AU 11 : 4TI AF W 18 ?
(1) ¥ 2,150

(2) < 2,200
(3) T 2,250
(4) T 2,300
Options:-

.1, Option ID :- 437,
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« 2, Option ID :- 438,
- 3, Option ID :- 439,

- 4, Option ID :- 440,
Answer Given:- Not Attempted

Question ID:- 111

In a purse, T 10,300 are kept in 100-rupee, 50-rupee and 20-rupee notes only. If these notes are in
the ratio 8 : 3 : 4, then the value of the amount in 50-rupee notes is :

(1) ¥ 1,300

(2) T 1,500
(3) ¥ 1,600
(4) T 1,700

foret 92U H, ¥ 10,300 31 9T e 100 9, 50 U 37 20 FIC = A2l o &9 H W@l g5 2| 4fe 37 A
W @S T AU 8:3 : 4, A 50 TIC % I hl AR FH TH ©

(1) < 1,300
(2) ¥ 1,500
(3) T 1,600
(4) T 1,700
Options:-

.1, Option ID :- 441,
. 2, Option ID :- 442,
. 3, Option ID :- 443,

. 4, Option ID :- 444,
Answer Given:- 2, Option ID : -442

Question ID:- 112

Average weight of three persons A, B and C is 45 kg and the average weight of A and B is 40 kg.
If the average weight of C and A is 43 kg, then weight of A is :

(1) 44kg
(2) 38kg
(3) 36kg
(4) 31kg

7 =afai A, B 3R C &1 190 945 kg ® T A 3R B %1 3iHd YR 40 kg ¥1 If8 C iR A =1 oiva
WX 43 kg &, T A T IR T ;

(1) 44 kg
(2) 38kg
(3) 36kg
4) 31kg

Options:-

.1, Option ID :- 445,
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. 2, Option ID :- 446,
. 3, Option ID :- 447,

« 4, Option ID :- 448,
Answer Given:- 4, Option ID : -448

Question ID:- 113

The average daily temperature from 7th to 14th March (both days inclusive) was 21.8°C and from
8th to 15th March (both days inclusive) was 22.5°C. If the temperature on 7th March was 20°C,
then what was the temperature (in °C) on 15th March ?

(1) 23.9
(2) 248
(3) 25.6
(4) 26.2

794 9 14 A= @ (SF1 e wimfaa) sied 8 amamm 21.8°C o1 2R 8 9= 9 15 5™ a& (S fa
fmfead) ofga Sfe arage 22.5°C o1 1 afg 7 07 &1 a99™ 20°C 1, &1 15 BT &1 arq9= (°C ) 31 &1 2

(1) 23.9
(2) 24.8
(3) 25.6
(4) 26.2
Options:-

.1, Option ID :- 449,
« 2, Option ID :- 450,
. 3, Option ID :- 451,

. 4, Option ID :- 452,
Answer Given:- 3, Option ID : -451

Question ID:- 114

The amount of a certain sum for 2 l years at 8% p.a on simple interest is ¥ 1,530 more than the

simple interest on the same sum for 12 years at 8.5% p.a. The sum (in <) is :
(1) 8200

(2) 8300
(3) 8500
(4) 9000
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Terett i =1 TnemoT = | 2% g9 8% arfies oX 9 fagys 39 afr w1299 9 8.5% a1fte g 9 9

YR =S | ¥ 1,530 e €1 9% i @ H) ¥2

(1) 8200
(2) 8300
(3) 8500
(4) 9000

Options:-

.1, Option ID :- 453,
« 2, Option ID :- 454,
. 3, Option ID :- 455,

. 4, Option ID :- 456,
Answer Given:- 4, Option ID : -456

Question ID:- 115

The simple interest on a certain sum at 7.5% p.a. for 4 years is ¥ 3,150. What will be the interest on

1
the same sum at 10% p.a. for 2 5 years, interest compounded annually ?

(1) T 2356.50
(2) T 2365.40
(3) T 2443.20
(4) T 2459.10

Fopelt Tfer T 4 7.59% i 71§ WER =S 23,150 315 T W 109 e 77 @ 2%@'13

e =t 2nm, afe = arftfe Safs g 2 ?
(1) T 2356.50
(2) T 2365.40
(3) T 2443.20
(4) T 2459.10

Options:-

.1, Option ID :- 457,
« 2, Option ID :- 458,
. 3, Option ID :- 459,

. 4, Option ID :- 460,
Answer Given:- Not Attempted

Question ID:- 116
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The difference between the interest on a certain sum at 20% p.a. for 2 years, compounded yearly,
and the interest on the same sum at 15% p.a for the same period, compounded 8-monthly, is
¥1,744. The sum is :

(1) T 14,000

(2) < 15,000
(3) < 16,000
(4) < 18,000

ot Tfer 9w 20% anftisr X & 2 a9 H =419, 5 1S anfies SIS 2ian €, iR 35 ufet W 15% arfifs =X
H 3 s7afy & fog =, So =0 9fd 8 5 qyErd Galed Bt S, W ST 17448 TR U T
(1) % 14,000

(2) < 15,000
(3) T 16,000
(4) T 18,000
Options:-

.1, Option ID :- 461,
« 2, Option ID :- 462,
. 3, Option ID :- 463,

. 4, Option ID :- 464,
Answer Given:- 4, Option ID : -464

Question ID:- 117
Taps A and B can fill a tank in 60 minutes and x minutes, respectively. Both taps are opened
together for 20 minutes, then A is turned off. If tap B takes 33% minutes to fill the remaining part

of the tank, then what is the value of ¥ ?

i
2 75
(3) 80
4) 90

A A 3R B U Zah! &1 HE: 60 T2 iR x 992 § @ gd 21 2F1 99 1 U W19 20 92 9% d@ren
WA ¥, TR A =1 wie o fean s £ ﬁWBﬁéﬁ%%mwﬁ%fmm%ﬁﬂzwﬁ%ﬁxw

TH FE ?
1) 72
(2) 75
(3) 80
(4) 90
Options:-

.1, Option ID :- 465,

« 2, Option ID :- 466,
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. 3, Option ID :- 467,

. 4, Option ID :- 468,
Answer Given:- 3, Option ID : -467

Question ID:- 118

Five persons could finish half of a work in 4 days. How many more persons should be employed
to complete the remaining work in 2 days ?

(1) 10
2 5
(3) 4
(4 2

ot oafvs ot e % ond T 1 4 e H T S e 2 o B g e & e, R ot e
R s e e ST = ?

(1) 10
(2) 5
(3) 4
(4 2

Options:-

.1, Option ID :- 469,
. 2, Option ID :- 470,
. 3, Option ID :- 471,

. 4, Option ID :- 472,
Answer Given:- 2, Option ID : -470

Question ID:- 119

The driver of a car driving at 76 km/h locates a bus 150 m ahead of him going in the same direction.
After 30 seconds, the bus is 120 m behind the car. What is the speed (in km/h) of the bus ?

(1) 43.6
(2) 42.5
(3) 42.2
(4) 41.8

R %1 HIS Feih, S 76 km/h 1 =916l | FHR ] T T 8,0F 99 &1, 51 39 femn & sn @ 2, 5199 9 150
m %1 U T STEEhT AT 8 | 30 FHES o UvEd, 99 FR F 120 m WS & 96t &1 59 Hi A (km/h H)
FAE?

(1) 43.6

) 425
) 422
) 41.8

(2
(3
(4

Options:-
.1, Option ID :- 473,



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

« 2, Option ID :- 474,
- 3, Option ID :- 475,

. 4, Option ID :- 476,
Answer Given:- Not Attempted

Question ID:- 120

A boat covers a distance of 10 km downstream in 30 minutes. If speed of the boat in still water is
18 km per hour, then the speed of the stream (in km/hour) is :

1 2
2) 2.2
(3) 25
4 3

TF TG g1 1 90 H 10 km #F g8 30 e § 7wt €1 Afe wid 9@ 719 F A 18 kn 9w E,
At GRT =T (km/ ST ) ®

1 2
(2 2.2
(3) 2.5
(4 3
Options:-

.1, Option ID :- 477,
. 2, Option ID :- 478,
. 3, Option ID :- 479,

. 4, Option ID :- 480,
Answer Given:- 2, Option ID : -478

Print ResponseSheet
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